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According to 770 law, mere nullification is sufficient

OVERVIEW

The 770 writes' 02°Nan IRW MPawn PwRIT o2 X, which is a qwy mEn to
eliminate y»n from our houses. There are also 2’2105 which prohibit us from
having 1 seen or found in our midst.” The obvious way of observing the mxn of
awn and not transgressing the MO X of X¥»® 921 A% 92 is by physically
removing the ynr from our premises (and destroying it). However the X723 here
states that we can fulfill this obligation through &»n%vya 902, There is a dispute
between "1 and MoOIN how 711 is effective in observing (the 7wy NMx¥n of N*awn
and) the 7wyn X of R¥7 921 87 2.

*

— NN 293 ANAYN NNYN 1PN 29N KDY 1NAVN NI 1002 U
“'"w1 explained that we know that *\0 Xabya 910322 RN™TIXRTA, since it is written in
the 770, "\nawn' (you shall eliminate), and it is not written 19van (you shall

destroy), this indicates that elimination can be accomplished in one’s heart.’ By
nullifying the yan in one’s heart the mu» of vawn is fulfilled.” This elimination of yan is
referred to as 21w .

mooin disagrees with >"wA:
— 91052 XYY XN NIYAN NNAYN INNT PNYS 199390 NYUPH

And the >''1 has a difficulty with this explanation; for this word 7naw: means

77v277 (to burn) and not merely 912°2. Mmoo proves his point -
= INAYN 9IN XI¥D 29D TPIN PPN 99IN NI*PY 229 6]’”9’9\’)3 NINT

For we learnt in a X092 in this X320 that ¥''9 says, ‘it is not necessary (for any
other proof that one may not have y»i1 in his possession on 109 27 [Mn NK7]; the

" u,20 (x2) mnw.

2 In v°,2° (X2) N the 10D states DN R¥M® K2 MXW 27 N¥aw and in 7,3° PI0D it states T2 X7 X9 P T2 7K K9
9723 952 W,

3 59022 772,

* If the 770 would want us to physically destroy the ¥, the 7m0 would have written 11van. Now that the 770
writes \n°2wn this indicates that a 292 nnawn (referring to 91022) is sufficient.

> Presumably when one fulfills the 737 of \n°awn by being Svan the yan there will be no 710X of >"21*"2 even if the
ynan remains in his premises, since the y»n is 202 (it has no existence).

6 (Tm¥n 7102) X,7 PR, The ®n»13 cites various opinions how we derive that Y21 may not be in our possession on 9"y
(after mxm)
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following proof is sufficient), for the 105 states Yn32wn should take place PwrI7 Ov2 -

— NANYN AN NIAY N9Y2NY 198
And we find that burning is an 7798%% 2R.” Therefore 1n°2wn cannot be on (the first day
of) v"v itself, for it is forbidden to ‘burn’ on 'u"v. We must therefore conclude that we observe
1N°2wn (eliminating the y»m) on 1od 27v. This concludes the statement of ¥ in the Xn>>72. It is
evident that (according to ¥"9) the term N°2wn means burning; for ¥"7 states clearly concerning
IN°2wn that 79R771 AR XOW 77272 W0¥MY, indicating that wn°awn refers to burning (and not Sor12).
This contradicts s""w assertion that 1n°2wn refers to 210°2.

mooin offers an additional proof that 1n1°2wn cannot mean 711°2:
— NYYNDY MYV YYN NINY PN NN 91):‘,75 19999 INAVYNT NI

And furthermore, the X1 states later, concerning ynsawn, that we derive from
'»o1 I8’ that the 211 of \n°awn takes place after six hours of the day have passed -
— %9193 %3111 XY KON INN)
And after the time when the prohibition of ynn begins, 12 is ineffective. If
n°awn refers to 7’2 how can the X% maintain that \n°awn should take place after myw ww, at

that time 71072 is ineffective since the time of yam Mo°X has already begun?!'' This (too) proves
that 1n°2wn cannot be referring to 7w2.

In summation mM»d01n has two questions on *"¥7; a) from ¥"7 it appears that 11°awn is 77v27 (not
511°2) and b) from the X3 of P91 IR it is evident that 1°awn cannot be 71072 since it is after a7
yan Moox. 2

mooIn offers his explanation of *0 X17¥2 9122 RNPNRTA:
— 9D NIYYA D1V32 NHNINTNT PHYY 13939 99IN)

And the ' explains that Xn»=Ix7», merely oz is sufficient (not because of
n*awn, but rather) -
— 9592 NIV NN 13‘1‘,7911 91 19VaY INNNT DYLN

For this reason, that once he was »uan the ynn, the ynn is apen and it is
considered out of his possession, and it is permitted to be found in his domain

7 See *"wA there Xmw 7", that burning y»n is a 1% 89w 77w2n, which is forbidden on (¥"1%) v".

¥ 91072 is not an 79X .

% x,7. The X3 there states that the word "IX" in the P105 of 1N"awn PWRIT Or2 X, indicates a division. That 10 awn
should take place after the day has been divided into two; meaning after n1xm.

10°See later on 2,) that once the y»n M0°X begins one cannot be 7van the ynn then, since the ynn is not considered to
be in his possession, that he should have the power to be 202 it. One can be v 2027 only before the time of MR
ynn begins. The (XX 71) Y1 MOX begins at Nxn.

' See “Thinking it over’ # 1.

"2 See the various commentaries (including the 7n9w *3xs ,>"19, etc.) who resolve these questions on "™

" See “Thinking it over’ # 2.
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— 1932 YY) ©INN YW AN NN YaN Hyvmaxpm
As the Xn»12 states; ‘however you are permitted to see y»nr that belongs to
others or that belongs to wpm’.!

modIN anticipates a difficulty (on his explanation that 21022 is 2p57 aywvn):
= AYHY 292 9P9N (x,an 91 09733 1399INT NN

And that which the X723 states in 2°971 ndo»n that 9pe? needs to be performed in
the presence of three people, why can 702 be done alone (if it is considered p5:7)?

mooin replies:
$T298 PR NN
7707 32 it is not necessary for three people to be present by the P57, it is merely a 17

16]3317; when it comes to 9102, the 7327 let it remain the way it is Xn»X77 that it can be done
alone.

SUMMARY
According to *"w1 we derive 7102 from 1n°awn; according to mooin the efficacy of
21002 is PO avLn.

THINKING IT OVER

1. m»ooIn asks on >"wA, if Wvawn refers to w2 how can we explain the P51 X that
the 21072 should be 1Mo>x a1 nx>."” Seemingly the same question is according to
Mmoo that nawn refers to 79w, how can we explain the p%n I8? Why do we
perform the 79> after M when the 110°X77 17 began already?!'®

2. According to moon," is the process of 71°2 a process of 77571 (that he declares
the o7 ynm), or is it a process of 71003, that he nullifies the y»n (but he is not
necessarily proclaiming it 2p5:)?>°

14 97 1mpY. The ’n™72 derives this from the (1,3° [X2] MnAw) P10 which states 72 787 &Y. This means that only ynn
which is 77w is forbidden to be seen, however ynn which is not 77w may be seen in your domain.

' According to mooIn there is no ¥ or 211 of Y12 (as it is according to *"w1 where 202 is derived from the mun
(2rm) of 1n"awn), but rather it is a method to circumvent the 70X of *"21 "2 and the ¥"» of wn°awn, by declaring the
9P van and thereby the various 2°0°X do not apply to v which is pai.

' The nnom wanted there should be two witnesses to the Apo1, and third who will be pa:7 11 797,

17 See footnote # 11.

¥ See v? mx 2"M.

1 See footnote # 13.

% See 02K NaM2.
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